TZ0Z - 810T
"H3IA ‘MY INI0DYIL
TYNODNLILSNOD CANINWYLNNAY ‘H
bR ‘A Y

SERS

SVINeTR I

20t - 8107
“83A NVINI0DVIL
HYMOIDNLILSNOD CANIIWYINNAY 'H
VHNLVIIONIS

Leoz - stor
“H3A 'NVIMODVTL
TYNOIINLILSNGD OLNIMVLNNAY ‘H

WdidiNnIN VIONIQISINd

—8.3&34@ £2'219'699'123 £2°219'699°'1Z¢$ 81°95Z°¢EL'OV$ 00°000°09L'L$ 81'992°¢L8'VP$ ojsen jep fejoL
2ZT9'68L'LS vh r68'696% v 768'695% 1L'916'66/'1$ 98'286'v1$ SR'EESOPLLE 1121083 |
6'€89'286°L$ L180VE'vLIS LS L8OVE'VLS' LS L8'¥Z0'zoL'e$ 9LLvr'eT-$ 16'991'681'e$ eAUSARId Jedioiunyy Bioljod
LE'BEB'SSY IS Y7'Z52'59L'01$ ¥y'Z82'694'01% Giiel'lzz'ses LTGBE'LLS 87'96.'€07'62% seoliand seiqo ap uolooalq
6'692'610'L$ 06'9.0'c76% 06'9.0°cv6$ v8'ore'ze6'L$ YT TLE LS 80°61L'¢E0'T$ [e1oos ojjoisesaq
9°216'18% 89'082'5.% 89°'982'6/% LGYOZ' 2618 - LSv0Z' 2618 09JUIoU0D ofjoliesaq
YELG'GrE'eS £2°020'v91°6S 11°0Z0'v91'6% 9Z'v£5'605'8$ 18'062'/2v'L$ 6E'EYZ'T80'L$ fediunyy ajuspiseid
15'762'269% 66'605'9V9% 66'605'9¥9% 05°008'cve‘ LS - 05°008'evE'1$ salejixny souebio
Z'SrL'e0T$ zeeez'ogLs Ze'€8z'981L$ 95°820°06£% = 95°820'06£$ oulajul joxguo) ap ouebip
6220466 £5'C68'15ES £5°€68°'166$ Sr'oLe'zees = Svole'czes ojusjweuniy 1op eleRioe
0'98.'6Z1L$ 2,'9z9'201$ Z.929'201% 11°c9¢e'ezes 00°000'G$ £129¢8'€22$ epnpifoy
1'066'26% 88'/28'2.$ 88'/28'2.% 20'818'04L$ 00'658'6-% Z0'€L9'0818 RINJeolpuIS
LE'806'990'1$ 69209'¢LZ'1$ 69209'¢LZ'L$ 00°111'082'28% 00'000°02£$ 00°111'016'1$ lediopunyy e1ouspISald
—k w-gl=9 g 4 {Z+ll=¢ 4 i
$8UO0I2oNPaY
opifeqng opebeyq opebuana( opesyIpow 1 seuoioendury opegqoidy ojdesuod
8052103

1202 9P otun{ op 0 |E 013ua op | 19P

BAREASIUIWIPY UQIdBILISE]D
sosaib3 ap o1sandnsaid [op o191919(3 [op oopeuUY OpeISy
I3 ‘uenjoae]] sp ojusiweundy 'H




